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Agraphisacollectionofvertices

connectedbyedges.

Thisgraphhas

3Vertices

3Edges

anditdividesthepageinto

2Regions

2

Let’strya3Dgraph.
For3Dgraphs,insteadofregionsweusefaces.

V+F-E

+-=

Doesthepatterncontinue?

Trysomemore3Dgraphs:

V+F-E

+-=
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Design your own graph, and see if the pattern continues!

My graph:

V + R - E

+ - =
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Leonhard Euler is a famous mathematician, who made
an important discovery in graph theory.

He discovered something interesting when he calculated:

V + R - E
number of vertices number of regions number of edges

Let’s calculate it for this graph:

V + R - E

+ - =
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Nowyoutrysome!
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